QUIZ 4
Stat 101

Quiz 4 Spring 2002

Course Component Value: [6]




Name: __________________________

The data for this quiz were taken from the Consumer Reports’ 1999 New Car Buying Guide.  The variables of interest are car WEIGHT and city driving MPG (miles /gallon).  

Variable     N      N*    Mean     Median   StDev     Min       Max     Q1      Q3

City MPG     15     1     20.867   22.000   3.044     17.000    27.00   18.00   23.00

Car WEIGHT   16     0     2975.6   2990.0   355.9     2365.0    3545.0  2708.8  3261.3

Pearson correlation of MPG and car WEIGHT = -0.816
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1) [1] As noted above, the correlation for car MPG and car WEIGHT is -.816.  Given the above information, what would be the correlation of car WEIGHT with car MPG?

Correlation of Weight and MPG: ____________

2) [1] Assume that there is a significant correlation between these two variables and you wanted to use regression to create an equation by which you could estimate one of the variables using the other.  Which of the two variables would be the most logical one to select as a predictor of the other?

_____ Use Weight to predict MPG


_____ Use MPG to predict WEIGHT

3) [1] Given your answer to item #2, which of the two scatterplots (above) would present the relationship between the two variables?

_____ Plot on the left


_____ Plot on the right

4)  [1] The Coefficient of Determination for these two variables is:

a) .816

b) -.816

c) .666

d) -.666


5) [1] The coefficient of determination represents:

a) the amount of variation in the y (dependent variable) variable attributed to the x variable

b) the amount of variation in the x (independent variable) attributed to the y variable

6) [1] Given that the regression equation for these data is y-hat = 41.7 - 0.00695(x), what would be the estimated MPG for a car weighing 3,800 pounds?
a) cannot be estimated using this formula

b) 15.29 mpg

c) 68.11 mpg
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